
https://www.geekcert.com/2v0-631.html
2024 Latest geekcert 2V0-631 PDF and VCE dumps Download

 

 

 

2V0-631Q&As

VMware Certified Professional 6 – Cloud Management and Automation
Beta Exam

Pass VMware 2V0-631 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/2v0-631.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

 

 

Latest 2V0-631 Dumps | 2V0-631 VCE Dumps | 2V0-631 Study Guide                                1 / 4

https://www.geekcert.com/2v0-631.html
https://www.geekcert.com/2v0-631.html
https://www.geekcert.com/2v0-631.html


https://www.geekcert.com/2v0-631.html
2024 Latest geekcert 2V0-631 PDF and VCE dumps Download

QUESTION 1

Which two tools would a vRealize Automation administrator use to extend the default installation for the implementation
of Anything as a Service (XaaS)? (Choose two.) 

A. vRealize Orchestrator 

B. Advanced Service Designer 

C. vCloud Automation Center Designer 

D. Infrastructure Organizer 

Correct Answer: AB 

 

QUESTION 2

Refer to the Exhibit. 

An IaaS administrator is unable to remove the Payload01 cluster from the Fabric Group shown in the exhibit. 

Based on the exhibit, what could be the cause of the problem? 

A. The cluster is assigned to one or more Reservations. 

B. The cluster is assigned to one or more Reservation Policies. 

C. The administrator doesn\\'t have the required permissions to remove clusters from the Fabric Group. 
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D. To remove a cluster from a Fabric Group the hosts must be in maintenance mode. 

Correct Answer: A 

 

QUESTION 3

Which two types of identity stores can be configured for a tenant? (Choose two.) 

A. Active Directory 

B. OpenLDAP 

C. vSphere Single Sign-On (SSO) 

D. Active Directory Lightweight Directory Services 

Correct Answer: AB 

 

QUESTION 4

An administrator discovers that the same ten custom properties are used for a machine blueprint. 

What is the best solution to avoid having to always enter the same ten custom properties for a blueprint? 

A. Create a Property Set xml file and upload to the Build Profile. 

B. Create a Property Set xaml file and upload to the Build Profile. 

C. Create a Property Set xml file and upload to Advanced Service Designer. 

D. Create a Property Set xaml file and upload to Advanced Service Designer. 

Correct Answer: A 

 

QUESTION 5

An administrator creates a vRealize Automation virtual machine blueprint with the following resource parameters: 
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A user tries to launch a machine based on this blueprint with the following resource parameters: 

What is the immediate outcome of this attempt? 

A. The virtual machine fails to deploy. 

B. The virtual machine is deployed as configured. 

C. The virtual machine deployment awaits administrative approval. 

D. The virtual machine deploys with automatically adjusted parameters. 

Correct Answer: C 
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